Program problema1a;

Uses crt;

Var S,N,i: Integer;

Begin

Clrscr;

write('Ingrese N: '); readln(N);

S:=0;

for i:= 1 to N do

 if ((i mod 2) = 0)

  then S:=S-i*i

  else S:=S+i*i;

writeln('S= ',S);

readln;

End.
Program problema1b;

Uses crt;

Var i: Integer;

    S,T : real;

Begin

Clrscr;

write('Ingrese T: '); readln(T);

S:=0;

i:=1;

While ((1/i/i)>=T) do

Begin

  S:= S+1/i/i;

  i:=i+1;

End;

writeln('S= ',S:16:10);

readln;

End.

Program problema2;

Uses crt;

Var i,N,A,u: Integer;

Begin

Clrscr;

write('Ingrese A: '); readln(A);

N:=A;

Repeat

 N:=N+1;

 u:=N mod 10;

Until (((N mod 7)=0) and ((u mod 2) = 0));

writeln('N= ',N);

readln;

End.

Program problema3;

Uses crt;

Var i,u,n,A,B: Integer;

Begin

Clrscr;

write('Ingrese A y B: '); readln(A,B);

n:=0;

for i:= A to B do

Begin

  u:= i mod 10;

  if ((i mod 7) = 0) and ((u mod 2) = 0)

  then n:= n+1;

End;

writeln('n= ',n);

readln;

End.
